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Reduction to a common denominator for
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A calculational method of the volume of
multidimensional unit sphere
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Gauss 0000000 nO0000DDODOO0O0O,0000000C0C0000D0DOOCO00O00O00O0DDODOOGGauss
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Joooooo
Approach to the Quaternions

oooots
Tadashi Yano'4

4.1 0O0OOO
Cauchy-Lagrange 00 000000000000 ODOOOOCODOOOOOOODO
(a® + ) (2 + y*) = (ax + by)* + (ay — bx)* (4.1.1)
(a® 4+ b* 4+ ) (z? + o —|—z) (az + by + c2)? + (ay — bx)?
+ (bz — cy)? + (cx — az)? (4.1.2)

(az + by + cz + dw)? + (ay — bx)?

+
+ (

(a2+b2—|—c2+d2)(a:2+y2+22+w)

az — cx)? + (aw — dx)* + (bz — cy)?
+ (bw — dy)? + (cw — dz)? (4.1.3)

goooo
000000 (4.1.1) 0000 Cauchy-Lagrange 0 0000000000000 00000OO0OOO Cauchy-
Lagrange 00 000O0OOO0OO0OOCOOOOO (4.1.1)0(4.1.2)0(4.13) 0000000000000 OOOO
Cauchy-Lagrange 0 000 O00D0OOO0O0O0DOO
00o000o0o0o0o0oooU0o0o0oUoOU0U0o0DoDOoU0LO0DoO0UDOU00o0D0OULOO0O0OD 41O

(a2 + 02)(22 + 42) = a222 + a®? + b2a? + b2y
= (a®2% + 2abxy + b*y?) + (a®y* — 2abxy + b*x?)
= (az +by)* + (ay — bx)?
0000oooo0o (4.1.2)0
(a® + b+ ) (2 +y* + 27)
— 2% + a%? + 227 + B2 + b2y 4 0220 4 Pa? + Py 4 2P
= (az + by + c2)? — (2abay + 2bcyz + 2cazx) + (a®y? + a?2% + b?2? + 022 4 Pa? + 2y?)
= (az + by + c2)* + (ay — bx)? + (bz — cy)* + (cx — az)?
0000000000000000 (41.3) 000000000000

0000 ((4.1.1)000000000000000000000
000a?+b% = (a+ib)(a—ib), 2> +y?> = (z+iy)(x—dy) 00000 i=+/-100000000

a+ib,a —ib,x + iy, x — 1y

13yanotad@earth.ocn.ne.jp
14 Professor Emeritus, Ehime University
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D000D000000D000000000000000
(a® +b?)(2? +y*) = (a +1ib)(a — ib)(z +iy)(z — iy)
sfsfslslslalufslsls)s

(a® + b*)(2? + ) = (a + ib)(z — iy)(a — ib) (z + iy)
= [(ax + by) — i(ay — bx)][(azx + by) + i(ay — bx)]
= (az + by)? + (ay — bx)?

ooooooooooD

00000000000 00000M.1.2) 0000000000000 0004.13) 0000000000
cooooooooooOoOooooooooooooo

OO0 200 Cauchy-Lagrange 00000000000, 000 Cauchy-Lagrange DO O O00O0OO0O0OOOO
00,00000000000000000000000000000000000O00O0OOOOO 1], [2]
oooooo

0000000000000 00OO0O00DOO0O00D00O0O 400 Cauchy-LagrangeDOOODOOOODO

4.2 000

000000000000 4000 (element) 00000000000, 0000000000000001%50
00 a,b,e,d0 4000000000,000 «a0200000 a+bi,c+di0DO00O0O

a=(a+bi)+ (c+di)j (4.2.1)
gbooobooooo2000b0000000bo0oo0o0g,
a=a+bi+cj+dij (4.2.2)

00O00,004j=k0000,
a=a+bi+cj+dk (4.2.3)

0000000 (423)0¢c=d=00000000000000

O000,000000000 4,k0000000000000000000,j=+v—1,k=+/—10C
gooob:00000b00000b0O0 +4,5,k01000000,0D0000D00DOOODOODO

goooboobOOobOooogoobOoobogd,y OObOoUOooOoD,D jk0 ROOOOCOODOODOODOO
0000 ji,kj,k000000000,0000000000 1,4,5,k00000000000000,000
oooooooobobooobooogond eb,e,ddb0d00000O0O0O0DOO,00000OD0ODbDOOOOO
good

0000000 Hamiltond 40000 1,¢,5,A000000000000D000OC00O0OO0OOODOOODOO

o 1ggoboobooboooo,on

2= =k =ijk=-10 (4.2.4)
ij = —ji=k (4.2.5)
jk=—kj=i (4.2.6)
ki = —ik =j (4.2.7)

oood
obooobooobOoboooboobooboooboooooooooooboooobooobooboooboOoooo

BopgooooooOoO0Oo 100000000
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041000

gcoooooboooooog ,4,5,000000000 1,4,5,k0000000000000DOOC0O00DODOO
gbobooboobooobooboooobobooooboo«:bo00o00b0b0 yoboo

ij =k

oooobooobooboboboboooobog

000000000000000000,00004¢=+/-1000020 4k0000000000000
oobooooooooobooooogb e, kO000000DbO00D 200000,0000,04g90000
000003000 kOO0ODbODOObD,gy=k000000000DOODOODODO jiO0ODO, ji=—-k
goo,0b0obooobgoobgon

ool «Oodd @ebbbbog,

a=a—>bi—cj—dk (4.2.8)

gooobooobooboobooboobooboooboooboobo,bbobDoobOoobo

oooobooboboboboboobouoobooboooboo

atrpf=a+p (4.2.9)
aff = fa (4.2.10)
é:@ (4.2.11)
« «
00,a00000
ad = la)* =a® + b+ +d? (4.2.12)
0000000 000000000000000000000000000000
la] >0, =0 a=0
la+ 8] < |af + B
laf] = |af - |3]
000 |of 0000000 [1]0
O0,a#00000,
aa = |al? (4.2.13)
00000,00000 [«?0000,
a
— =1 4.2.14
oooooo B
al= 2 (4.2.15)

0000, (4.2.14)0
aa =1 (4.2.16)
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00000000,a#0000,a000 «~'00000 (42150000000
00000, « 000 KOODOOOOODODOO KOODOQOOUOOO, 0000 (element) 0O OO
(quaterniond 0 O OO
goooobooboooooboobooooobobob,0ooobbboooUbL,bbbo,ooobbbbooog
ooo0,0000000000000Q0000O00 op=pabOO0O0OOOO
gooOCOOoCOCOOOOCOO,0000000ooooOoOo0oO0O0, 000 Cauchy-LagrangeD OO O OO0
ooood

4.3 UO0O0OO0OO0OOOOOOOO
0000000000000000000000000000

(@ + b+ 2+ d*) (2 + y* + 2%+ w?) = (az + by + cz + dw)? + (bx — ay + dz — cw)?

, , (4.3.1)
+ (cx — dy — az + bw)* + (dz + cy — bz — aw)

000000000 (413)00000000000000000000, 000000000000 UODOOO
oooz2000000

a=a+bi+cj+dk (4.3.2)
6=x+yi+zj+ wk (4.3.3)

0000,0 o80

af = (ax — by — cz — dw) + (bx + ay — dz + cw)i

4.3.4
+ (cx +dy + az — bw)j + (dx — cy + bz + aw)k ( )

0000000,q 800000000 3000000,0a300000,0 800 (4.34)0

b— —b
c— —c
d— —d
Yy— -y
z— —z

w — —w

00000000C000000000000000,b,¢d0 y,200010000000000000,a0
y,2,w000 10000 be,d0 2000 1000000000000C000O0,

af = (ax — by — cz — dw) + (—=bx — ay — dz + cw)i

_ (4.3.5)
+ (—cx+dy —az — bw)j + (—dz — cy + bz — aw)k

oooooO
000 ¢3000000000,0 a00000,00000000 (4.3.5)0

a<—T
by
Cc 2

d—w
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gboocoooboooobooobooo,o000o000

Ba = (ax — by — cz — dw) + (=bx — ay + dz — cw)i

. (4.3.6)
+ (—cx —dy — az + bw)j + (—dz + cy — bz — aw)k
oooo, (436)04¢,5,k00000000000 —0OO00DOOOOOOOOOO,
Ba = (ax — by — cz — dw) + (bx + ay — dz + cw)(—1) (4.3.7)
+ (cx +dy + az — bw)(—j) + (dz — cy + bz + aw)(—k) o
000000000,000 0000000000
af = fBa (4.3.8)
gooobooobon
00000 00000 20 |af2 00000
laBl* = afaf
= affa
) (4.3.9)
= o|f|*a
= |af*|5l?
000000000 8—30000000,
laf)* = |o*|B|? (4.3.10)
ooooooo,|3l=|pooooa, )
laBI* = |of?|6I> (4.3.11)
gooooo
0aB0 (434)00 30
Yy— -y
z— —z
w— —w
oooooooboobooboo,
af = (ax + by + cz + dw) + (bxr — ay + dz — cw)i (4.3.12)
+ (cx —dy —az + bw)j + (dx + cy — bz — aw)k o
000 (4.3.11)000000, Cauchy-Lagrange 0 0 O O
@+ +E+d)+ P+ 22 +uw) = X2+ Y2+ 22+ W2 (4.3.13)
goooooooga,bod
X =ax+by+ cz+ dw
Y =bxr—ay+dz—cw
Z =cxr—dy—az+bw
W =dx+cy—bz—aw
0000(4.3.13)00000 (431)0000, (41.3)0000000000000000000,
Y24 22+ W? = (b — ay)? + (cx — az)* + (dz — aw)?
(b — ag)? + (e — a2)? + (do — aw) o

+ (cy — b2)* + (dy — bw)? + (dz — cw)?
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0000000000000000000 Y?,22,w2000000,

Y? = (bx —ay)? + (dz — cw)? + 2(bx — ay)(dz — cw) (4.3.15)
Z? = (dy — bw)* + (cx — az)* — 2(dy — bw)(cx — az) (4.3.16)
W? = (dr — aw)? + (cy — bz)* 4+ 2(dz — aw)(cy — b2) (4.3.17)

goooo

Y2422+ W2 = (br — ay)® + (dz — cw)?® + (dy — bw)?
+ (cx — az)? + (dz — aw)? + (cy — bz)? (4.3.18)

gbooobooo,ooooboo
2[(bx — ay)(dz — cw) — (dy — bw)(cx — az) + (dz — aw)(cy — bz)] =0

000000000000000,000000000
ooooo,

(a® + 0%+ + d®) (2 + y* + 2% + w?) = (az + by + cz + dw)? + (bx — ay)* + (cx — az)?
+ (dz — aw)? + (cy — bz)?
+ (dy — bw)? + (dz — cw)?

000000000 4.1.3)0000

4.4 0O0O0OO

00000000000000000 400 Cauchy-Lagrange 000 0000000000000000
000 [5000000000000000000000000000000000000000000000
000000000000000000000 [3), [4], 6], [7), [8)0(2011.7.13)

Joog

1] 000 0,00000000000000, 19650 90-91
2 0000,0000000000000D0000O, 1978071

3] 0000 Lagrange 000000000000 OO0O500 (1994.6) 9-12,
gbooomooooz200507-740000000

[4] 00000 Cauchy-Lagrange 000000 1000000000 0OOOY2002006.100 14-17
[5] 00000 Cauchy-Lagrange 000000 200000000000093002007.309-13
[6) 00000 Cauchy-Lagrange 000000 30 0000000000094 002007.60 8-12
[7] 00000 Cauchy-Lagrange 000000 4000000000000 105002010.70 12-17

[8] 00000 Cauchy-Lagrange 0100000 5000000000000 00O0O
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